ALGEBRA

SECTION 7.1

NOTES

System of equations 
– two or more equations




- will be designated by the symbol {

Solution to a system – an ordered pair that works in ALL equations of the system

Graph the systems.  Give the solution.
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No Solution
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No Solution
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      Same line
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Same line
	If the systems have:

	Different slopes
	Same slopes with different y-intercepts
	Same slopes with the same y-intercepts

	Type of system:

	Intersecting lines
	Parallel
	Same line

	Number of solutions
	One
	Zero
	Infinitely many
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